1a) How should the concepts in this drawing below be represented in a
sequence diagram?
1b) Use this representation to model a DDOS attack.
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1a) How should the concepts in this drawing below be represented in a
sequence diagram?

Asset — lifeline or attribute

Party — normally not in sequence diagram
Threat — lifeline

Unwanted incident — event

Likelihood — annotation on message arrow
Conseguence — annotation on message arrow
Vulnerability — case dependent

Treatment — case dependent
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1b) model of a DDOS attack
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